SH: SYTALD
A a2t X 2 JIE sAe(2L22/HK)
el S8EIIIE A2l EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SETALW 14,946,299 26,675,231 A11,728,932
thalzted XY & 201 |Azel(2sL2Z/HK) 6,258,811 6,235,811 23,000
SEEH3IIE A2 6,258,811 6,235,811 23,000
MNZ=EES A% 2H RA2el 6,258,811 6,235,811 23,000
201 et 3| 52,500 32,500 20,000
01 At 2] 2,500 2,500 0
O3JIE =l 2el 2,500
2 35284l 50,000 30,000 20,000
0&ZJ1& =Xl 2l 50,000
202 04l 18,000 15,000 3,000
01 =LHA LI 18,000 15,000 3,000
0&J1& =Xl 2 18,000
308 AXIHSOIA 6,188,311 6,188,311
183 S| 2SO ZB & HASAIE 6,183,311 6,183,311
OosA=8mZIE /A5 2l 6,188,311
SHsgs Z2 &4 & HL(FEXXNGNL/XALEAI) 10,000 12,500 22,500
SHES8D S+ =d € g 10,000 12,500 22,500
S SEAE B 2 OHZAE =X 8,500 9,500 A 1,000
201 Ler2E| 2,500 4,500 22,000
01 At2teltl 2,500 4,500 /2,000
OS+ S HE & gAY A 2,500
202 O] 6,000 5,000 1,000
01 2L AL 6,000 5,000 1,000
OS+ ZEAHE HE L HEAMY =H 6,000
S5 g 28 ?3s s 289 1,500 3,000 21,500
201 =3 1,500 3,000 21,500
01 At2t2lt] 1,500 3,000 21,500
OS7 g 2d /A= 5 29 1,500
HM2ALH(STTAILM) (OIEHIIE 41,110 36,698 4,412
Jl=2dsl 41,110 36,698 4,412
FAM2E Jl=3Hl 41,110 36,698 4,412
201 fer=3| 24,621 25,726 1,106
01 AtR2t2|HI 24,621 25,726 AT1,105
FN2E AIR2te/| 24,621
202 04l 12,289 6,772 5,517
01 SLHoIHI 12,289 6,772 5,517
FAEL =0 12,289
203 HR=4H] 4,200 4,200
M A2 LRFAI 4,200 4,200
©2521 0lat 4,200
Hees(S2UALL) (2L 22 /M) 8,636,378 8,765,222 A128,844
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